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January 29, 2018

adjacent
hypotenuse adjacent hypotenuse

opposite opposite

m<M = 45o

m<M = 40o

m<M = 60o m<M = 30o

Jan 29­10:41 AM

Jan 29­10:43 AM

a2 + b2 = c2

62 + 2.52 = AC2

6.5 = AC

m<ACD = 50.28o

Dec 31­4:02 PM Jan 22­11:35 AM
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Dec 31­4:02 PM Dec 31­4:03 PM

Dec 31­4:03 PM Dec 31­4:03 PM

Dec 31­4:03 PM Dec 31­4:03 PM
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Dec 31­4:03 PM Dec 31­4:03 PM

Dec 31­4:03 PM Dec 31­4:03 PM

Dec 31­4:03 PM Dec 31­4:03 PM
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Dec 31­4:04 PM Dec 31­4:03 PM

HW 8­4

HW Packet 8­4

#8 requires multiple steps!
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